
TEL: 618.476.6300
FAX: 618.476.6301

Toll Free: 844.393.3985
www.basor.com

Basorfil Quick  
Reference Guide

ZN
DESCRIPTION

Selling Unit  
(PCS) LIST PRICE

CROSS REFERENCE

REF. Caddy Eaton/B-Line

BEJH12 3/4" Standard J-Hook, Size 12 100 $142.59 CAT12 BCH12

BEJH12W 3/4" Batwing J-Hook, Size 12 100 $220.98 CAT124Z34 BCH12-W2

BEJH12AC 3/4" 90º Angle J-Hook, Size 12 100 $250.01 CAT12AB BCH12-RB

BEJH12HOK24 3/4" Hammer-On J-Hook, Size 12, 1/8"-1/4" Flange 100 $299.88 CAT1224SM BCH 12-E-2-4

BEJH12HOK58 3/4" Hammer-On J-Hook, Size 12, 5/16"-1/2" Flange 100 $303.45 CAT1258SM BCH12-E-5-8

BEJH21 1-5/16" Standard J-Hook, Size 21 100 $271.64 CAT21 BCH21

BEJH21W 1-5/16" Batwing J-Hook, Size 21 100 $313.16 CAT214Z34 BCH21-W2

BEJH21AC 1-5/16" 90º Angle J-Hook, Size 21 100 $306.66 CAT21AB BCH21-RB

BEJH21HOK24 1-5/16" Hammer-On J-Hook, Size 21, 1/8"-1/4" Flange 100 $414.12 CAT2124SM BCH21-E-2-4

BEJH21HOK58 1-5/16" Hammer-On J-Hook, Size 21, 5/16"-1/2" Flange 100 $417.69 CAT2158SM BCH21-E-5-8

BEJH32 2" Standard J-Hook, Size 32 100 $327.65 CAT32 BCH32

BEJH32W 2" Batwing J-Hook, Size 32 100 $361.25 CAT324Z34 BCH32-W2

BEJH32AC 2" 90º Angle J-Hook, Size 32 100 $355.00 CAT32AB BCH32-RB

BEJH32HOK24 2" Hammer-On J-Hook, Size 32, 1/8"-1/4" Flange 100 $354.32 CAT3224SM BCH32-E-2-4

BEJH32HOK58 2" Hammer-On J-Hook, Size 32, 5/16"-1/2" Flange 100 $354.32 CAT3258SM BCH32-E-5-8

BEJH64 4" Standard J-Hook, Size 64 25 $135.62 CAT64 BCH64

BEJH64W 4" Batwing J-Hook, Size 64 25 $179.43 --- ---

BEJH64AC 4" 90º Angle J-Hook, Size 64 25 $169.86 CAT64AB BCH64-RB

BEJH64HOK24 4" Hammer-On J-Hook, Size 64, 1/8"-1/4" Flange 25 $170.00 CAT6424SM BCH64-E-2-4

BEJH64HOK58 4" Hammer-On J-Hook, Size 64, 5/16"-1/2" Flange 25 $170.00 CAT6458SM BCH64-E-5-8

BEJH
Standard  
J-Hook

BEJHW
Batwing  
J-Hook

BEJHAC
90˚ Angle
J-Hook

BEJHHOK24
1/4" Flange  
Hammer-On  
J-Hook

BEJHHOK58
1/2" Flange 
Hammer-On  
J-Hook

J-Hook Product Line

DESCRIPTION

H W ZN GC i304 i316

in in REF. REF. REF. REF.

BFR 4"X1.5" 1.5" 4" 2/3616 2/0286 2/0303 2/7415
BFR 6"X1.5" 1.5" 6" 2/3617 2/0287 2/0304 2/7416
BFR 8"X1.5" 1.5" 8" 2/3618 2/0288 2/0305 2/7417
BFR 12"X1.5" 1.5" 12" 2/3619 2/0289 2/0306 2/7418

DESCRIPTION

H W GC i304 i316

in in REF. REF. REF.

BFR 6"X4" 4" 6" U/0020 - -
BFR 8"X4" 4" 8" 2/0298 2/0315 2/7427
BFR 12"X4" 4" 12" 2/0299 2/0316 2/7428
BFR 16"X4" 4" 16" 2/0300 2/0317 2/7429
BFR 18"X4" 4" 18" 2/9548 - -
BFR 20"X4" 4" 20" 2/0301 2/0318 2/7430
BFR 24"X4" 4" 24" 2/0302 2/0319 2/7431

DESCRIPTION

H W ZN GC i304 i316

in in REF. REF. REF. REF.

BFR 8"X6" 6" 8" 2/9549 2/9554 UR UR
BFR 12"X6" 6" 12" 2/9550 2/9555 UR UR
BFR 16"X6" 6" 16" 2/9551 2/9556 UR UR
BFR 20"X6" 6" 20" 2/9552 2/9557 UR UR
BFR 24"X6" 6" 24" 2/9553 2/9558 - -

DESCRIPTION

H W ZN

in in REF.

BF2R 2"X2" 2" 2" 2/7389
BF2R 4"X2" 2" 4" 2/7248
BF2R 6"X2" 2" 6" 2/7249
BF2R 8"X2" 2" 8" 2/7250
BF2R 12"X2" 2" 12" 2/7251
BF2R 16"X2" 2" 16" 2/7394
BF2R 18"X2" 2" 18" 2/9989
BF2R 20"X2" 2" 20" 2/7395
BF2R 24"X2" 2" 24" 2/7396

DESCRIPTION

H W ZN

in in REF.

BF2R 4"X4" 4" 4" 2/7914
BF2R 6"X4" 4" 6" 2/7915
BF2R 8"X4" 4" 8" 2/7397
BF2R 12"X4" 4" 12" 2/7398
BF2R 16"X4" 4" 16" 2/7399
BF2R 18"X4" 4" 18" 2/9990
BF2R 20"X4" 4" 20" 2/7400
BF2R 24"X4" 4" 24" 2/7401

DESCRIPTION

H W GC i304 i316

in in REF. REF. REF.

BFR 2"X2" 2" 2" 2/0290 2/0307 2/7419
BFR 4"X2" 2" 4" 2/0291 2/0308 2/7420
BFR 6"X2" 2" 6" 2/0292 2/0309 2/7421
BFR 8"X2" 2" 8" 2/0293 2/0310 2/7422
BFR 12"X2" 2" 12" 2/0294 2/0311 2/7423
BFR 16"X2" 2" 16" 2/0295 2/0312 2/7424
BFR 18"X2" 2" 18" 2/4957 - -
BFR 20"X2" 2" 20" 2/0296 2/0313 2/7425
BFR 24"X2" 2" 24" 2/0297 2/0314 2/7426

BFR H1.5"

BFR H4"

BFR H6"

PAINT SERVICE YELLOW/RED/BLACK

BF2R H2"/BF2R H4" 
SPLICING SYSTEM*

BFR H2"

Basorfil Wire Mesh Steel Trays

BF2R H2"

BF2R H4" *Self splicing system-tray shipped with splices in place

ZN and GC trays are 

YELLOW RED BLACK



Covers and Dividers

Basorfil - The Newest Wave in Cable Tray

Basorfil Finishes Cable Capacity (inch2)

DESCRIPTION

PG GC i304 i316

REF. REF. REF. REF.

PS 1.375" 2/3476 2/3479 UR UR
PS 2.375" 2/2066 2/3480 UR UR
PS 3.25" 2/3477 2/3481 UR UR
PS 4" 2/3478 2/3482 UR UR
PS 6" 2/9852 2/4592 UR UR
BFR BASKET TRAY COVER 4" 2/1312 2/1321 2/4560 -
BFR BASKET TRAY COVER 6" 2/1313 2/1322 2/5123 -
BFR BASKET TRAY COVER 8" 2/1314 2/1323 2/4561 -
BFR BASKET TRAY COVER 12" 2/1316 2/1325 2/4716 -
BFR BASKET TRAY COVER 16" 2/1317 2/1326 2/4931 -
BFR BASKET TRAY COVER 18" U/0016 U/0017 - -
BFR BASKET TRAY COVER 20" 2/1318 2/1327 2/4562 -
BFR BASKET TRAY COVER 24" 2/1319 2/1328 2/5357 -
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 4" 2/8811 2/8818 - -
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 6" 2/8812 2/8819 - -
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 8" 2/8813 2/8820 - -
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 12" 2/8814 2/8821 - -
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 16" 2/8815 2/8822 - -
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 18" U/0018 U/0018
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 20" 2/8816 2/8823 - -
E-BFR/BF2R H4"/H6" BASKET TRAY COVER 24" 2/8817 2/8824 - -
SOLID BOTTOM 4" 2/9658 - - -
SOLID BOTTOM 6" 2/9659 - - -
SOLID BOTTOM 8" 2/9660 - - -
SOLID BOTTOM 12" 2/9661 - - -
SOLID BOTTOM 16" 2/9662 - - -
SOLID BOTTOM 18" U/0007 - - -
SOLID BOTTOM 20" 2/9663 - - -
SOLID BOTTOM 24" 2/9664 - - -
PTBFR 2/10253 - 2/10254 -

E-BRF/BF2R H4"/H6" 
BASKET TRAY COVER

PTBFR-COVER 
HOLD DOWN 
CLIP

SOLID BOTTOM INSERTPS DIVIDER STRIP BRF BASKET  
TRAY COVER

Basorfil Wire Mesh Steel Tray incorporates a safety edge to help avoid damage to cables. In addition, 
our patented wave design on all longitudinal wires creates a much stronger and lighter tray. BF2R 
Electrozinc finish trays are fitted with pre-installed quick splices, making it the most economical tray on the 
market and making it possible to join two sections of tray in 4 seconds. Other finishes for Basorfil include 
hot-dipped galvanized, 304 and 316 stainless steel and yellow, red and black painted finishes. The product 
line also includes numerous splices, supports and accessories to complete your next project.

ZN Electrozinc

PG Pre-Galvanized

GC Hot-Dipped Galvanized

i304 304 Stainless Steel

i316 316 Stainless Steel

Yellow Yellow Painted

Red Red Painted

Black Black Painted

Cable Capacity (inch2)

WIDTH (in)
H1.5" H2" H4" H6"

in2 in2 in2 in2

2 - 3.57 - -

4 4.18 7.29 - -

6 6.51 11.63 - -

8 8.99 15.81 28.83 44.33

12 13.80 24.34 45.11 68.20

16 - 32.86 61.38 92.07

20 - 41.39 77.66 115.94

24 - 49.91 93.93 139.81

DESCRIPTION

PG GC i304 i316

REF. REF. REF. REF.

BT-90 KIT U/0008 - - -
CU BFR/BF2R 2/5059 2/5060 2/5093 -
MU 2/0357 U/0021 2/9872 2/14244
MU 275 2/10007 - - -
JUA-BFR 2"/4" 2/9868 - 2/9869 -
UNIVERSAL BOX SUPPORT 2/0358 2/0368 2/0378 UR
MINI UNIVERSAL SUPPORT 2/0359 2/0369 2/0379 UR
BF/BFR DROP-OUT PLATE 2/6451 2/6452 - -
BF/BFR MINI DROP-OUT PLATE 2/9807 - - -
SL SIMPLE SIDE HANGER 2/0360 2/0370 2/0380 -
REER 2"X2" 2/6291 2/6299 2/8767 -
REER 4"X2" 2/6295 2/6303 2/8768 -
REER 2"X4" 2/6293 2/6301 - -
REER 4"X4" 2/6297 2/6305 - -
STB CONDUIT CONNECTOR PLATE 2/0356 2/0366 2/0376 UR
CFBFR41 - 2/10284 - -

 DESCRIPTION

ZN GC i304 i316

REF. REF. REF. REF.

UR BFR QUICK SPLICE H2"/4" 2/6217 2/6219 - -
UR BFR QUICK SPLICE H1.5" 2/7271 2/7272 - -
BF BOLT-WASHER KIT 2/4364 2/4360 2/4915 2/5358
BF WASHER 2/0337 2/0339 2/0340 2/1104
BF BOLT-NUT SET 2/4362 2/7132 2/4923 2/8229
ULA 2"/4" LATERAL SPLICE SET 2/4919 2/4363 2/4921 -
SSC SQUARE WASHER 2/2064 2/0363 2/0373 UR

DESCRIPTION

Smax BRASS

in2 REF. REF.

35 M6X0 GROUNDING TT 47" 0.054 2/6796
95 M6X0 GROUNDING TT 47" 0.147 2/6797
WIRE CUTTERS - - 2/5066

BF BOLT-NUT SETBF WASHER SSC SQUARE WASHER

SL SIMPLE SIDE  
HANGER

STB CONDUIT  
CONNECTOR PLATE

UNIVERSAL BOX  
SUPPORT

MINI UNIVERSAL  
SUPPORT

MU-MULTI UNION  
SPLICE BAR

CFBFR41 STRUT  
CONNECTION CLIP

WIRE CUTTERS

BF/BFR DROP-OUT  
PLATE

REER BLIND END 
PLATE

JUA-BFR 2"/4" 
ADJUSTABLE HINGED 
SPLICE

BT-90 KIT CU BFR/BF2R-  
ADJUSTABLE SPLICE 
WASHER KIT

35 M6X0 GROUNDING LUG

UR BFR QUICK SPLICE BF BOLT-WASHER KIT ULA 2"/4" LATERAL 
SPLICE SET

Splices and Mounting Accessories

Other Accessories

DESCRIPTION

PG GC i304

REF. REF. REF.

CH-SVO 4"/6" U/0010 - -
CH-SVO 8" U/0011 - -
CH-SVO 12" U/0012 - -
CH-SVO 16" U/0013 - -
CH-SVO 18"/20" U/0014 - -
CH-SVO 24" U/0015 - -
C-SVO 4" 2/3630 2/6280 2/6285
C-SVO 6" 2/1073 2/1078 2/1087
C-SVO 8" 2/1074 2/1079 2/1088
C-SVO 12" 2/1076 2/1081 2/1090
C-SVO 16" 2/3629 2/5719 2/6287
C-SVO 18" 2/1075 - -
C-SVO 20" 2/1077 2/1082 2/6288
C-SVO 24" 2/5941 2/5720 2/6288
M8 THREADED ROD 2/3397 - -
M8 DIN 6923 NUT 0/0338 - -
C-SVO 10FT 2/1101 - -
WALL/FLOOR SUPPORT 2/8228 - -
TRAPEZE HANGER CLIP 2/5724 - -
SIMPLE WALL BRACKET 2/6289 2/5881 -
SV 4" 2/1046 2/1050 2/1062
SV 6" 2/1047 2/1051 2/1063
SV 8" 2/1048 2/1052 2/1064
SV 12" 2/1049 2/1053 2/1065
SV 16" 2/3413 2/3418 -
SV 20" 2/3414 2/3419 -
SV 24" 2/3415 2/3420 -
C-SHO 4" 2/7230 2/7239 2/7490
C-SHO 6" 2/7231 2/7240 2/7491
C-SHO 8" 2/7232 2/7241 2/7492
C-SHO 12" 2/7233 2/7242 2/7493
SHO/SHOT PIECE 2/6240 2/6318 -
SRB 4" 2/6372 2/6379 -
SRB 6" 2/6373 2/6380 -
SRB 8" 2/6374 2/6381 -
SRB 12" 2/6375 2/6382 -
SRB 16" 2/6376 2/6383 -
SRB 20" 2/6377 2/6384 -
SRB 24" 2/6378 2/6385 -
P-S-2 X2" - - 2/7304
PBFR SUPPORT 2" 2/5590 2/4397 -
KIT FS 2" 2/8231 - -
C-SVO-FS 20" 2/9676 - -
SFS SUPPORT 5.5" 2/5602 - -

C-SHO L BRACKET WALL MOUNT SRB ANGLE WALL  
SUPPORT BRACKET

P-S-2" TRAY STAND OFF/
SUPPORT

WALL/FLOOR SUPPORT TRAPEZE HANGER CLIP SIMPLE WALL BRACKETC-SVO SUPPORT PROFILECH-SVO-CENTER  
HANGER

SV WALL AND FLOOR SUPPORT

SFS UNDER FLOOR  
SUPPORT

PBFR UNDER FLOOR 
SUPPORT

KIT FS UNDER FLOOR 
SUPPORT CLAMP

Supports

844.393.3985  •  www.basor.com


